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What Does it Mean to be a Linguist Today?

Jinuss Shirvan
Assistant Professor, Department of French Language and Literature
Faculty of Foriegn Languages, Islamic Azad University (Central Tehran Branch)

Abstract

Linguistics is a science that encompasses a wide range of domains. As other
sciences, it needs to have its own unequivocal system of definitions and
concepts. Thus, to deal with linguistics, we have to ask who a linguist is today.
To answer this question, we need to know where linguistics stands and what
the objectives of the discipline are. Topics and phenomena that linguistics
deals with are studied through logical analysis. Thus, the method of linguistics
distinguishes it from other sciences and it has domains which are specific to
this science. So, it has its. methods and scientific tools in the domain of
interdisciplinary sciences.
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